. VCE & PDF https://www.pass4itsure.com/4a0-101.html
g 2024 Latest passditsure 4A0-101 PDF and VCE dumps Download

PassditSure.com

AA0-1019%As

Alcatel-Lucent Interior Routing Protocols and High Availability

Pass Alcatel-Lucent 4A0-101 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/4a0-101.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

Latest 4A0-101 Dumps | 4A0-101 Practice Test | 4A0-101 Exam Questions 1/5


https://www.pass4itsure.com/4a0-101.html
https://www.pass4itsure.com/4a0-101.html
https://www.pass4itsure.com/4a0-101.html

PassditSure.com

QUESTION 1

Click on the exhibit.

w1515 PKT:

«TX 1515 PDU ifid 3 len 59;

* Proto Disc 1131

e Header Len :27

* Version PID 1

« |DLength 0

o Version 1

* Reserved 10

« Max Area Addr: 3

= POU Type : [10) Level 2 LAN 15-15 Hello Pdu
o Circuit Type :L1L2

o Sourceld 01001001 00 04
e Hold Time 27

« Packet length : 42

e Priority ;&4

* LAN Id 101001001 0004 01
+ Arga Addresses:

* Area Address : (3) 49.0002

* Supp Protocols:

= Protocols :IPvd

# |/F Addresses :

e |/F Address : 10.3.4.2
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What value would be expected in the state field?
A. Exchange

B. Up

C. Down

D. 2-Way

Correct Answer: C

QUESTION 2

Click the exhibit button.
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e 1515 PRT:
oRX 1515 PDU ifid 3 len 43;

]

]

Proto Disc 131

Header Len : 20
Varsion PID : 1

IDLength :0
Varsion 11
Reserved : 0

Max Area Addr: 3
POU Type  : [11) Point-2-Point 15-15 Hello Pdu
Circuit Type : L1L2
Source |d ;01 00 1001 00 03
Hold Time 27
Packet length : 42
Circuitid 0
Area Addresses:
Area Address : [3) 49,0002
Supp Protocols:
Protocols @ IPwd
I/F Addressas !
I/F Address : 10,3.4.1
IWay Adjacancy
| State :
ExtcktIiD 1
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‘& B 192 153.3.0:22,

ug-J_J_}

Router 2 advertises the network 192.168.3.0/24 to router R1 via IS-IS. How can router R1 ensure that it discards the
route?

A. Use a prefix list on router R1 to discard all ingress I1S-IS routes.
B. Use an export policy and prefix list on router R1.

C. Use an import policy and a prefix list on router R1.

D. This is not possible because I1S-IS cannot use import policies.

Correct Answer: D

QUESTION 3

Which of the following are similarities between OSPF and IS-IS? Choose two answers.
A. Metric is based on hop count.

B. Slow convergence after link failures.

C. Support hierarchy through the use of areas.

D. Support for CIDR.

E. Link state updates sent using layer 3 multicast.

Correct Answer: CD

QUESTION 4

Click on the exhibit.
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Area 49.0001
Area 49.0003

The numbers beside the links are the metrics for that link.

Given the diagram, what path will traffic follow from router R1 to router R7, and from router R7 to router R1, if IS-IS is
the routing protocol?

A. Router R1 to router R7 will follow (R1-R2-R4-R6-R7). Router R7 to R1 will follow (R7- R6-R4-R2-R1)
B. Router R1 to router R7 will follow (R1-R2-R4-R6-R7). Router R7 to R1 will follow (R7- R6-R5-R3-R1)
C. Router R1 to router R7 will follow (R1-R3-R5-R6-R7). Router R7 to R1 will follow (R7- R6-R4-R2-R1)
D. Router R1 to router R7 will follow (R1-R3-R5-R6-R7). Router R7 to R1 will follow (R7- R6-R5-R3-R1)

Correct Answer: C

QUESTION 5

Which of the following cannot be used as a matching criterion in route policy statements?
A. Source IP address

B. TCP source port

C. Prefix list
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D. Protocol type

Correct Answer: D
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